[ ER%254FE 18

[ B D T3 070 FLIZATAG T D T3

(WEEBANL EOHEEFTICB T 0/ iER)

JIE o s 3 AR S FEOMEAEAR (et 20 AT IR RS | g
s T PEEHHK o - o - fus
- (FHM) | sy (5m) (EHMA) i feriiyy 5 | DL
1 |dbJubTi] 1,068 |dEJuNT | 48,684 [dEJLINTT| 1,981,423 |XimHIT 15,608 |[dEJuLNTHi| 575,546 |5igkEmi| 3,368 | 1
2 |kt 824 |t& [ i 20,882 |XiFHET | 1,477,565 |=A5TH 8,280 |Xij AT 207,981 |gA&TH 2,395 | 2
3 | ARk 419 |ABKT] 12,004 |E&T 794,825 |#EREF | 5,413 |[f&MTH 196,449 |[XijmEHT 2,211 | 3
4 | X)w 248 =4 9,593 |#& [l i 570,034 |FAATH 4,831 [#gTh 124,817 |5 ERT 1,704 | 4
5 |BEm 188 [Xij AT 9,621 |/AREKT| 308,568 |~z T 4,259 [ABEK| 118,768 | EEHT 1,427 | 5
6 |/\ZTi 178 | 7,668 |RilETH 291,219 |dEFulimi| 4,032 | 106,588 | 1,372 | 6
7 )i 164 | KHM 6,513 |HgE¥rhi| 288,926 | EEHT 3,931 [ KM 89,015 | &M 1,363 | 7
8 | KA mH 143 | 6,454 | KAMETT| 250,699 [ALRT 3,770 |3 73,834 |HEJIHT 1,332 | 8
9 |EHm 140 |EH 5,825 | & 221,850 |#EJIHT 3,704 |HEREFH| 69,946 | KZEMT| 1,325 | 9
10 | KBk 133 |#ah 5,374 |BEETH 157,106 | KW 3,696 |AkETH 47,031 [KsEFM| 1,274 | 10
11 [FiATH 113 |47#8mh 4,640 |iE 5T 126,677 ¥ 0T 3,256 |HifgTi 43,647 | &® 1,191 | 11
12 |ZErEnT 110 |5 4,464 |BifhT 124,103 | &5 2,778 |E 39,598 [dbJuiii| 1,182 | 12
13 |Htkh 107 |&-giimh 3,735 1B 121,350 |/MPriT 2,773 [Ny 37,765 |HOEiEm 1,073 | 13
14 |&&H 104 |Hremy 3,631 |E-mimi 98,315 | & 2,768 |\ Z i 33,707 =T 1,023 | 14
15 |FEnT 98 [N\ & 3,350 |~ T 96,165 D% 2,714 |Ewith 26,823 |\ Z i 1,011 | 15
16 |fTHsh 85 | KEFIkTH 3,279 = mT 88,380 [/NERTT 2,713 ITHEh 22,347 | A Bk 978 | 16
17 | A0FEh 74 W)l 3,160 |\ Zihi 85,078 |HfL 2,707 [J&JIET 21,836 |Hfa 967 | 17
18 |5k 72 | K)IH 3,031 |#TFHT 75,941 |JII&GHT 2,704 |ARCZHT 21,461 |ACZ T 961 | 18
19 |z 71 |EJITH 2,468 |H)IT 58,948 |E-aiith 2,569 |¥aEMT 20,346 |fESEHT 959 | 19
20 |ZEEH T 70 |¥AENT 2,444 |J=)11EY 50,568 |\ 4 2,501 |77 19,917 [t&hih 940 | 20
21 [Fr=my 70 [J/=)11ET 2,368 |¥=MT 48,609 |fTHETH 2,494 (W1l 18,783 |/KZ&HT 936 | 21
22 | X T 66 |#FHT 2,317 |FFENT 48,145 |f&E T 2,460 |H)IITH 18,679 [J/=)I1RT 925 | 22
23 [>=1Fm 60 |F3ENT 2,227 Wil 47,132 |k 2,441 |FERT 17,333 [# MM 924 | 23
24 |¥a)=EHT 59 [ASRZHT 2,207 |EEmkm 47,042 |BREEH 2,418 |HEiEm 17,044 [/NPrlT 910 | 24
25 |J&)I1AT 58 |zt 2,193 [O=iFh 44,624 |H)IITH 2,391 | RJIT 15,976 [AILET 906 | 25
26 | W) 57 R 2,120 | X 42,069 |[Hremy 2,346 |Zaki 15,600 [ka=MT 854 | 26
27 | &qih 57 |HEEHH 2,099 | Kk 41,637 |/KENT 2,323 |$FHT 15,540 |[& =0T 787 | 27
28 | AT 57 |ZEAENT 2,007 |/hERT 41,513 |=&H 2,314 |ZEFENT 14,459 |F-3EHT 783 | 28
29 | Tny 55 |SLRimHT 1,803 |ZEANT 37,381 |HRTH 2,251 [ K¥rbi| 13,967 |E#TH 773 | 29
30 |EamT 54 |ARRE 1,735 [DRETH 36,988 |ZE_EHT 2,229 |CRETH 12,550 [mH)IITH 768 | 30
31 [m=rnr 53 > 1,528 [KLlT 35,444 | 2,191 |ZailT 12,161 [#&FHT 765 | 31
32 | HREe)1[HT 44 |/ ERH 1,498 | 34,591 |#&%&NT 2,183 | KSEMFTT| 12,034 |f@dEmh 739 | 32
33 | AT 44 R 1,399 |HRIHT 33,216 |E K 2,177 | EENT 11,493 |zmkihi 739 | 33
34 |=Bm 43 |=Bm 1,398 | EEHT 32,211 |FEHT 2,132 |HHRT 11,447 |BFT 734 | 34
35 | 43 | 1,237 | AoFH 30,719 |21y 2,102 |AFH 11,219 |&F&HRT 730 | 35
36 | 42 |=AE T 1,209 [ 28,410 |&semy 2,101 |t@dm 10,501 [JIIIEzHT 721 | 36
37 | RKHT 40 |RJIvERT 1,009 |[#@HEr 26,344 [ K=EMH| 2,059 [H&E 10,075 |ZEAEHT 716 | 37
38 | K JJpehT 39 |/ LT 1,004 | &5 23,873 |iEEENT 2,006 |#&EENT 9,138 |&miT 711 | 38
39 | K= 38 | mT 964 |/MAHT 23,581 [HEMT 1,995 |/A LT 8,414 |[MIERT 709 | 39
40 |tEHET R ) 949 |zAEnT 22,320 | KJIPERT | 1,948 [/NERTH 8,410 | KANT 698 | 40
41 |/KERT 29 | K= 946 |&ESmT 20,707 |imAE AT 1,820 [/KZHT 7,933 |EselT 689 | 41
42 | FAHNT 25 | RARNT 892 | KJJUENT 20,050 |t 1,819 |z=ignT 7,671 |E T 689 | 42
43 |fEZERT 24 |55 850 | K=NFi 20,035 |ZEFEHET 1,816 [/MET 7,633 |$FHT 672 | 43
44 /NPT 24 /MY 849 |/K&HT 19,969 |[SRETH 1,801 | HT 6,677 |HLETHT 670 | 44
45 |FEA 23 |/KkENT 843 |EZEmT 19,579 |HRiAT 1,799 [f&7HT 6,159 |FHT 652 | 45
46 | e ] 23 | B0y 819 [w&HT 17,877 |JoKHT 1,774 | KJIBERT 6,006 [mEET 636 | 46
47 |/NEsTh 21 [T 791 [EEJITAT 15,349 | KAEHT 1,769 [JRAKHT 5,681 |AXF 631 | 47
48 |f& /T 19 |HREgJIHT 629 | KARNT 14,745 |A0FM 1,696 [FE EHT 5,437 |PRETH 622 | 48
49 [HgERT 17 |&FFENT 532 |&HNT 8,069 |~ =T 1,581 [AEJITHT 5,425 | KJIERT 594 | 49
50 |#:)IIT 16 |[l$EHT 512 |RsE T 7,593 |BI)IlTh 1,452 |&FHIT 4,065 |5% HIT 593 | 50
51 [ 1Ly 13 |FAH 505 |&t WY 7,369 |l HEmT 1,446 |[dsE T 3,629 |#)IlTH 590 | 51
52 |7 =T 11 |AEJIT 410 |FEHT 7,324 |FBHT 1,415 [BEEJI[HT 3,446 |/DERTH 551 | 52
53 | &/ 11 |5 BT 323 |HREJI T 7,289 |&HFHMT 1,413 |&EAH 3,307 | KALHT 547 | 53
54 [ZE EHT 11 |5 =T 186 |JINIRFHT 4,655 | RJITT 1,296 |7 =0T 1,499 |[BRE)I[HT 546 | 54
55 | &5 10 |JI1Igs AT 166 |~ ER=AT 3,084 | KEpbkii| 1,290 |JIligrmT 1,225 | KJITT 502 | 55
56 |JITIR AT 9 |[HEH 164 |sEkT 2,059 |BIGFT 1,158 |HlEkf 865 |HlékT 497 | 56
57 |k HET [l ERE) 102 | RATHT 1,832 FREQJIET | 1,127 | RAEHT 558 |[ATHGTH 463 | 57
58 |¥UsHIT [ ENEL 87 [RHHET 961 [RHET 1,075 [k HHET 516 [FsHIET 445 | 58
59 | KALHT 6 |FRHNT 84 |UsHNT 669 |#SHET 764 |FHENT 379 | KEFhLT 439 | 59
60 | FRAT 5 oAt 29 [oRAT 215 |7RAT 618 [JrAT 90 |7RAT 266 | 60




